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g Train Validation Test
Classifier
Accuracy | Accuracy | Accuracy
Logistic
Regression 100% 100% 96.43%
Classifier
Random
Forest 100% 100% 95.83%
Classifier
3-Layers
ANN 95.05% 90% 95.23%
Classifier
KNN 100% | 100% | 94.04%
Classifier
Decision
Tree 100% 100% 93.45%

Classifier
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#Feautur

e Hful
data_test

test_data,squeeze()

b
=

for i in range(1,7):
if data_normal_mean["Feature" + str{i)] - data_limp_mean["Feature" + str(i)] >= @ :
_thread = (data_normal_mean["Feature" + str{(i)]l - data_limp_mean["Feature" + str{i}l
_tmp = data_limp_mean["Feature” + str(i)] + _thread
thread.append( [_tmp,"casel"])

else :
_thread = (data_limp_mean["Feature" + str(i}] - data_normal_mean["Feature" + str{i)]
_tmp = data_normal_mean["Feature" + str{i)] + _thread
thread,append( [_tmp, " case2"])

# TR EE
for i in range(6):
if thread[i][1] == "casel":
if data_test[i] >= thread[i] [2]:
_bool.append{@)
else !
_bool.append(1)
else @
if data_test[i] »>= thread[i] [8]):
_bool.append(1)
else :
_bool.append(8)

Fea = ['E8&5"
for i in rang
if _booll[i 1=
print{Feali] + "o 287} YHLlch \n")
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Object Detection



A

z

skeleton Z&

M | ol

= |3 |y
& MU | oF
K | Kr | &I
mfJ | |
of |of |0
= |3 | iy
& M | oF
Kir | Kr | Kir
ol | of | a1l




Il
o

Mtk
ofo
rot
Hn
o
0x

i
|l
ne

=
A%

rA
rn

r N
XYEEHOIA
BYAE e s8o
7_II-E ﬁgI.EF
\_ y ©
r N ~
> —t=1¢] Q& H=0|
Hozl Aal || oz Az
\_ JAN y
r N ~
g 322y || s s
M M
\_ JAN y

g
mh
=
[

ClEH SEA S rey S
oY ste= ot der
Classifier Train Validation Test
Accuracy Accuracy Accuracy
Random
Forest 100% 96.17% 86.25%
Classifier
Decision Tree | 4440, 95.83% 86.25%
Classifier
Gradient
Boosting 100% 96.50% 86.25%
Classifier
Logistic
Regression 98.89% 94.33% 85.0%
Classifier
AC?:SE::‘?:: 100% 96.17% 83.75%
bdadgiles iU el e
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